Multiplying Two Binomials (A)

Simplify each expression.

(=722 = T2) (=2t 228

2. (Tk + 8)(—9k* — 5k)

W

(5n® — Tn?)(—2n — 1)

W

(92 4 7) (=5t — 27)

- (8y” + 5y (4y" + 8y°)

Ot

6. (Ta* — 3a®)(9a* — 7a?)

(=Tt ot (T 4 4t

EN |

8. (=20 — 76 (—5b° — 2b%)

0. (=7s* +85%)(—2s* — 45%)

10. (—c* +4c%)(=5¢% — 9¢)
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Multiplying Two Binomials (A) Answers

Simplify each expression.

(=722 = T2) (=2t 228
=720 —72° — 142°

[}

(7k + 8)(—9Kk* — 5k)
— —63k® — 107k* — 40k

3. (5n® — Tn?)(—2n — 1)
= —10n* + 9n® + n?

(92 + 7)(=52* — 2%)
— —452° — 44x* — T2

- (8y° + 5yh) (4y* + 8y°)
= 3297 + 84y% + 4047

Ut

. (7a* — 3a®)(9a* — 7a®)
= 63a” — 76a” + 21a°

D

J

(=Tt 498 (TH° + 4th)
— —49¢” 4+ 35¢t% + 36t°

09

(=20 — %) (—5b° — 2b*)
= 106° + 395" + 141°

)
N®)J

(=78 4+ 85%)(—25" — 45°)
= 145° + 125" — 324"

10 (=c* + 4c*)(=5¢* — 9c¢)
=58 —11¢° — 3664
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